. Of a total of 600 bolts, 20% are too large and 9. lim x log sin x is equal to

10% are too small. The remainder are - g
considered to be suitable. If a bolt is selected at (a) zero
random, the probability that it will be suitable (b) = t
is @ 1 L
(&) 15 (b) % (d) cannot be determined

3 3 10. If x=1+a+a®+... to infinity an
©) 1o ) 10 2 . i

¥y=14+b+b°+ ...... to infinity, where a, ba:

The area enclosed within the curve proper fractions, then 1 + ab + a?b% + ...

x| +|y|=1is S
(a) 1 sq unit (b) 2v/2 sq unit Annnity llsyequa o -
© 2 sq unit (d) 2 sq unit (@ e (b) e ey §
If .P(B)—§ P(:"x(‘\B(‘\C)-l and Xy Xy
© x—y+1 (d)x+y+1
P(Ar\BnC)—— then P(B nC)is & &
ca) 1712 ®) 1/6 11. cos' 8 —sin” 6 is equal to
a % 2 6
© 1/15 @) 1/9 (a) 1+ 2sin? (5) (b) 2cos?6 -1
The value of 9
" 5 1 ol (© 1-2sin? (d) 1+ 2cos?0
s 1
sin | sin 3 + sec 3|+
i = . 12. Ify = f(x)_"—f'-‘:z tHie
cos (tan 35+ tan 2 (¥
a) 1
EC; 3 x for x ? 1
nction of x
12 4/cot
J: — ual to 13. A person standlng on the bank of a riv
Jeot x + Jran x observes that the angle subtended by a tree ¢
(@1 (b) -1 the opposite bank is 60°. When he retreats 2C
o = D from the bank, he finds the angle to be 30°. T
2 4 breadth of the river in feet is
Area bounded by the curve (a) 15 ) 15V3
a sq uni . m B
(c) 2 sq unit (d) none of these 14. If tan oo =_———= and tanP =5_——7, th
If|axB|2+|a B2=144 and | a| = 4, then S e
s T
| B| is equal to @ 3 ® 3
(a) 12 (®) 3 () zero @ 3
(c) 8 @ 4
15. If f(x)= x[vx —x + 1], then
Given that|a|=3,|b|=4.| a x b| =10, then g .
- o 5 (a) f(x)is continuous but not differentiable
| a- b|“ equals - x==0
i t differendable at x =0
(a) 88 (b) 44 (b) f(x)isno : t
© 22 (d) none of these (c) f(x)is differendable at x =0

(d) none of the above



34.

35.

36.

37.

38.

39.

40.

41.

42.

If sin x + sin® x = 1, then

6 12 10

X + COs 8

x+3cos” xis

cos x+ 3cos

equal to

(a) 1 (b) cos® x sin
() O (d) =

The integrating factor of the differential
equation & J 31; y=3xis

dx
(@) x (b) Inx (0
wi2 :
jo x sin

o5

(d)eo

2 x cos® x dx is equal to

2
n
® 15

(d) none of these

2

i
(a) 33
n

© 35
If H is harmonic mean between P and Q, then

H H
the value of P + a is
PQ

P+Q)

(d) none of these

(a) 2

P+Q)
(©) PQ

The value of ‘p’ for which the equation

x2+ pxy + y* - 5% ZJH6=0 re (5 o
pair of straig L jhﬂl
(@) 5/2 (bR .‘@ (d

Angle between fHe 3(

()

b-(ab)ais
@5 ®mo ©F (@3

The equation of the circle passing through
(4,5) having the centre (2, 2) is

(@ x>+ y%>+4x+4y-5=0

(b x2+y2—-4x—4y—5 =0

(© x2+y2~4x=13

(d) x*+y2-4x -4y +5=0

The smallest positive integer n for which

Ll o
(1—_{] =4S
() n=8 (b) n=12
(e} n=16 (d) none of these
The equation of tangents drawn from the
origih to the circle x2+y?-2m
—2hy + h%* =0are
(@) x=0,y=0
(b) x=1,y=0
(© (hz—rz)x—Zrhy=0,y=0
(d) (hW2-r¥)x-2rhy=0,x=0

43.

44.

45.

46.

47.

50.

51.

52.

._If f(x)=cos (log x
“ b

49.

The value 0f 912 x 91/9 x 91727 x
(a) 9 () 1

{©) 3 (d) none of these
Let0<P(A)<1,0<P(B)<1and

P(Au B)=P(A)+ P(B)- P(A) P(B), then
(a) P(B/A)=P(B)-P(A)

(b) P(A* U B )=P(A" )+ P(B")

(c) P(AnB)=P(A")P(B")

(d) none of the above

The probability that in the toss of two dice wg
obrain the sum 7 or 11, is

, 001§

1} 1 2 23
(a) % (b) 18 (&) (d)m
iFa* 3. =2'”~“’,thenayis equal to
(a) 2 +2) (2% 4 2)

(2.\‘_2)') (1+2x+y)

oy -1 o

o) B | e d) ———
@ [1-—2"} (d) o

If the probability of A to fail in an examinati
is 0.2 and that for B is 0.3, then probability th
either A or B is fail, is

(a) 0.5 (b) 044 (c) 0.8
tHEM

+ fx y)] has the value

(d)0.25

(c)-2 (d) zero

If y=3*"1 43 %! (x real), then the leai
value of y is

(a) 2 (b) 6

(©) 2/3 (d) none of these
The value of 8 lying between 8 = 0 and -g- andl

satisfying the equation

1+ sin?@ cos? 8 4 sin 46 |
sin%@ 1+ cos®@ 4sin48 [=0 is
sin%@ cos?8 1+ 4 sin 40
7 S5t T1% b4
(a) 54 (b) B (©) > 3 (d)ﬂ
——+100 ——~100
(_1+—2_3.] o {_1—.—2:‘:—3’) is equal =

(a) 2 (b) zero (c) -1 (@1
If o, be the two roots of the equar;:
x2 + x + 1=0, then the equation whose ro:

are = and —B— is
B o

(a) x2+x+1=0
(c) %% = % =1=0

(b) x2-x+1=0
d) x> +x-1=0




In a binomial distribution, the mean is 4 and

variance is 3. Then, its mode is

(a)ﬁ(wwk) (b)L:”Gu k)

d) 5 b) 6 S 3 ~
'—D’r Ed) none of these = - 3+ +k) (d) 5 (— i+ J +k)
4. The equation of a line passing through /3 xsinx . .
-2,-4) and perpendicular to the line 58. J.,m-3 .y dx is
3x-y+5=0is ] o Sn
a) 3y+x-8=0 (b)3x+y+6=0 (a) = (4n+1) (b)——2logtanl—2
¢) x+3y+14=0 (d) none of these in 5
, ¢) — + log tan == (d) none of these
33. lim (cosec x)'/!°8 is equal to (r: 3 . 12
r— 0
2) 0 (b 1 59. Y "''C,isequalto
¢) 1/e (d) none of these '=0n+m+1 s
5. The minimum value of (a) Cn+1 (b) Cn
fx)=sin* x + cos* x, 0 x < —2 is (©) "*™**Cy_y  (d) none of these
1 1 =1 1| 60. The angle between the lines 2x = 3y =-z and
(@) ——= ) = (O=F (d)5 x=-y=-4zis
2J2 4 2 2 X Y |
:7. A vector of magnitude 5 and perpendicular to o R R (© 3'?[\..1 (A58
Answer — Key
1. b 2. d 3. a 4, a 5. .« 6. a 7. b 8 b 9. a 10. a
11. b 12. a 13.d 14. b 15. ¢ 16. ¢ 17. b 18. b 19. a 20. c
21. d 22: ¢ 23. b 24, d 25. d 26. c 27. b 28. d 29. a 30. b
31.b 32. a 33.d 34. a 35. a 36. a 37. a 38. a 39. a 40. b
41. d 4. d 43. c 44, d 45, c 46. c 47. b 48. d 49, c 50. a
51. c 52. a 53. ¢ 54. c 55..¢ 56. d 57..d 58. b 59, a 60. a




